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2 _ n
Fn-1Fn+1 - Fp = (-1) o= 2

implies
2 = (-t
Fn—l = (-1)7 (mod Fn)

If n iseven (n= 4), we have Fi_l =1(modF ) and u =2n. If n is
2 —_ =
odd (n> 4), Fn-l = -1 (mod Fn) and u 4n,
From the above, it is obvious that N = 1 is the smallest positive inte-

ger for which (iii) holds for all n =1, 2, °**. Itis interesting to note that

{unln =1, 2, } n {Fn‘n =1, 2, } = {Fi’ Fy, Fgo Fy, Fyo, } .
R ey oo 4
[Continued from page 282. ]

NOTE ON SOME SUMMATION FORMULAS

by

SO+SI+S2+' oe

Ii (k+51+252+3S3+-..+i)
i=1
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